



St. Louis County, Minnesota

Date of Report: 12/16/2025 4:54:47 PM

**General Details** 

Parcel ID: 450-0010-03772 Document: Torrens - 1084705.0

**Document Date:** 09/26/2024

**Legal Description Details** 

Plat Name: **MIDWAY** 

> **Block** Township Range Lot

15 21

Description: PART OF SW1/4 OF SW1/4 DESCRIBED AS FOLLOWS COMM AT SW COR OF SEC 21 THENCE

N89DEG34'13"E ALONG S LINE OF SEC 21 370 FT TO PT OF BEG THENCE N89DEG34'13"E ALONG S LINE 956.42 FT TO SE COR OF FORTY THENCE N00DEG18'22"W 1315.17 FT ALONG E LINE OF FORTY THENCE S89EG34'51"W 764.53 FT ALONG N LINE OF FORTY THENCE S00DEG13'25"E 735.32 FT THENCE S89DEG 34'13"W 190 FT TO A PT 370 FT E OF W LINE OF FORTY THENCE S00DEG13'25"E 580 FT TO BEG

**Taxpayer Details** 

NYLUND CHRISTOPHER & JENNIFER TRUST Taxpayer Name

and Address: 2724 LINDAHL RD

DULUTH MN 55810

**Owner Details** 

Owner Name NYLUND CHRISTOPHER & JENNIFER TRUST

Payable 2025 Tax Summary

2025 - Net Tax \$5,373.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$5,402.00

**Current Tax Due (as of 12/15/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,701.00	2025 - 2nd Half Tax	\$2,701.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$2,701.00	2025 - 2nd Half Tax Paid	\$2,701.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

**Property Address:** 2724 LINDAHL RD, DULUTH MN

School District: 704 Tax Increment District:

Property/Homesteader: NYLUND, CHRISTOPHER M & JENNIFER R

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$99,900	\$439,800	\$539,700	\$0	\$0	-	
111	0 - Non Homestead	\$23,500	\$0	\$23,500	\$0	\$0	-	
	Total:	\$123,400	\$439,800	\$563,200	\$0	\$0	5731	





St. Louis County, Minnesota

Date of Report: 12/16/2025 4:54:47 PM

**Land Details** 

Deeded Acres: 25.64 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width:	0.00							
Lot Depth:	0.00							
The dimensions shown are	e not guaranteed to be surv	ey quality.	Additional lot	information can be	e found at			
https://apps.stlouiscountyr	nn.gov/webPlatsIframe/frm	<u> </u>	<u> </u>		ions, please email Property	ax@stlouiscountymn.gov.		
Improvement 1 Details (HOUSE)								
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Desc.			
HOUSE	1998	1,5	67	1,567	AVG Quality / 1300 Ft <sup>2</sup>	RAM - RAMBL/RNCH		
Segment	Story	Width	Length	Area	Foundat	tion		
BAS	1	0	0	1,567	WALKOUT BA	SEMENT		
DK	1	0	0	120	PIERS AND FO	DOTINGS		
DK	1	0	0	444	PIERS AND FO	DOTINGS		
OP	1	8	10	80	FOUNDA	TION		
Bath Count	Bedroom Coun	t	Room C	ount	Fireplace Count	HVAC		
2.75 BATHS	3 BEDROOMS		-		1 C	&AC&EXCH, PROPANE		
Improvement 2 Details (DG 34X40)								
Improvement Type	Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
GARAGE	2007	1,3	860	1,360	-	DETACHED		
Segment	Story	Width	Length	Area	Foundat	tion		
BAS	1	34	40	1,360	FLOATING SLAB			
		Improver	ment 3 De	tails (DG 26X3	30)			
Improvement Type	Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
GARAGE	1998	78	30	780	-	DETACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	26	30	780	FLOATING SLAB			
		Improve	ment 4 De	etails (ST 10x1	4)			
Improvement Type	Year Built	Main Fl		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	14	10	140	-	-		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	10	14	140	POST ON G	ROUND		
Improvement 5 Details (10X12 SHED)								
Improvement Type	Year Built	-	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	2023	12	20	120	-	-		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	10	12	120	FLOATING	SLAR		





St. Louis County, Minnesota

Date of Report: 12/16/2025 4:54:47 PM

	Vaan Build	•	ent 6 Details (		Decement Finish	04	ula Cada 9 Daga	
Improvement Type Year Built			Main Floor Ft <sup>2</sup> Gross Area 208 208		Basement Finish Style Code & D			
Soame	0				- Foun		STN - STONE	
Segment Story BAS 0		y width 13	<b>Length</b> 16	<b>Area</b> 208	Foundation			
BAC	0							
		-	ement 7 Details	•				
Improvement Type Year Built			Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish Style Code & D			
	0		314 314		- PLN - PLAIN SLAE			
Segme		•	Width Length Area		Foundation			
BAS	0	U	0 0 314 -					
		Sales Reported	to the St. Lou	is County Au	ditor			
Sa	ale Date		Purchase Price		С	RV Numb	er	
C	1/1999		\$1			127953		
C	2/1994	\$0 (This	is part of a multi p	arcel sale.)		95796		
		A	ssessment His	tory				
	Class		5		Def	De		
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bld EM		
100.	201	\$75,600	\$397,600	\$473,200	0 \$0	\$0		
2024 Payable 2025	111	\$52,400	\$0	\$52,400	\$0	\$0	-	
•	Total	\$128,000	\$397,600	\$525,600	\$0	\$0	5,216.00	
	201	\$72,100	\$360,700	\$432,800	0 \$0	\$0	-	
2023 Payable 2024	111	\$48,900	\$0	\$48,900		\$0	-	
ayaz.e _e_ :	Total	\$121,000	\$360,700	\$481,700	\$0	\$0	4,817.00	
	201	\$68,400	\$335,100	\$403,500		\$0		
2022 Payable 2023	111	\$45,200	\$0			\$0		
2022 Payable 2023	Total		\$335,100	\$448,700		\$0		
	201		\$303,900			\$0		
0004 B	111	\$65,800 \$42,600	\$303,900	\$369,700 \$42,600		\$0		
2021 Payable 2022		· · ·			,			
	Total	<u> </u>	\$303,900	\$412,300	0 \$0	\$0	4,083.00	
			Tax Detail Hist	ory				
			Total Tax &		<b>.</b>			
Tax Year	Tax	Special Assessments	Special Assessments	Taxable Lan	Taxable Building MV		Total Taxable M	
2024	\$5,251.00	\$25.00	\$5,276.00	\$121,00			\$481,700	
2023	\$5,133.00	\$25.00	\$5,158.00	\$113,44		\$334,332		
2022	\$5,235.00	\$25.00	\$5,260.00	\$107,69	4 \$300,6			





St. Louis County, Minnesota

Date of Report: 12/16/2025 4:54:47 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.